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Ch26-5

A circular ring uniformly charged with positive charge Q is in the xy plane centered on the origin as shown.  On the z-axis, 
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.  Which graph accurately represents the electric field Ez on the z-axis?


[image: image2]
E: None of these is an accurate representation of Ez
Answer: (B) 

Ch26-6

What the magnitude of the vector 
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(ij)(xy)

-=-

?

A) 1

B) 2

C) 0

D) Some other number.

E) No answer, because 
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 is not a vector.
Answer: Some other number: 
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Recall that a 45-45-90 right triangle has edge lengths in ratio 1-1-(root of 2)
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Ch26-7

There are no charges near inside the regions shown. Which of the following are possible electric field line configurations?
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A: (a) only

B: (b) only

C: (c) only

D: None are possible

E: Some other answer (all,  a and b only, etc.)

Answer: (a) and (c) only.    (b) is forbidden because field lines cannot cross.  There is only one net E-field at any point in space.  If field lines crossed, that would indicate more than one field at a point in space.

Ch26-8

Consider the four electric field line patterns shown.  Assume that that are no charges in the regions shown.  Which, if any, of the patterns represent possible electrostatic fields.

A: All are possible. 
B: II only 

C: II and III only




D: None are possible.

E: None of the above.

Answer: II only. 
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 I is forbidden since field lines cannot begin or end in empty space (they can only begin or end on charges). Recall that the question stated there are no charges in the regions shown.

III is forbidden for the same reason as I.  Field lines cannot begin in empty space; they can only begin on charges.

IV is forbidden because field must originate or terminate on charges; they cannot form closed loops.

Ch26-9
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From the figure, what can you say about the magnitude of the charge on the bar 
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, compared to the magnitude of the charge Q of the positive point charge?

A: 
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B: 
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C: 
[image: image11.wmf]Q

Q

bar

<


Answer: The point charge has 8 field lines coming out of it, so its charge is Q = 8 q  (where q is some unit of charge).  The bar has 5 lines going in and 3 lines coming out, so its charge is Qbar = -5q +3q = -2q.  So the magnitude of the charge of the bar is |Qbar | = 2q

So 
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From the figure, what can you say about the net charge on the bar?

A: Qbar = 0


B: Qbar > 0 (that is, the bar has a net positive charge)

C: Qbar < 0 (the bar has a net negative charge)


D: Not enough information in the figure to answer the question.

As explained above, the net charge on the bar is Qbar = -5q +3q = -2q, so the bar has a net negative charge.
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